
myF – 21  (tpfpjk; -2& 

 xU tpfpjj;jpd; xU fzpak; jug;gLk; NghJ nkhj;j fzpaj;ij fhzy;. 
 tFg;nghd;wpYs;s ngz; gps;isfSf;Fk; Mz; gpspisfSf;Fk; ,ilapyhd tpfpjk; 

4 : 3 MFk;' mt;tFg;gpYs;s ngz; gps;isfspd; vz;zpf;if 24 vdpd; 
mt;tFg;gpYs;s nkhj;j khztu;fspd; vz;zpf;ifiaf; fhz;f. 
 

ngz; gps;isfspd; vz;zpf;if      = 24 

ngz; gps;isfspd; tpfpjk;       = 4 

xU tpfpjj;jpd; vz;zpf;if       = 24 ÷ 4 = 6 

nkhj;j tpfpjk;        = 4 + 3 = 7 

mjd; gb tFg;gpYs;s nkhj;j khztu;fspd; vz;zpf;if  = 6 × 7 = 42 
 

       
 

 tpfpjnkhd;wpy; XU tpfpjj;jpd; fzpak; jug;gLk; NghJ 
 nfhq;fpwPWf; fyit xd;wpy; kzy; : rPnke;J : rpWfw;fs; = 5 : 3 : 2 tpfpjkhFk;. 

Mf;fyitapy; cs;s rPnke;J jhr;rpfspd; vz;zpf;if 12 vdpd; fyitapYs;s kzy; 
jhr;rpfspd; vz;zpf;ifiaAk; rpWfw;fs; jhr;rpfspd;  jhr;rpfspd; vz;zpf;ifiaAk; 
fhz;f. 

rPnke;J jhr;rpfspd; vz;zpf;if   = 12 

rPnke;J jhr;rpfspd; tpfpjk;    = 3 

xU tpfpjj;jpd; msT    = 12 ÷ 3 = 4 

 kzy; jhr;rpfspd; tpfpjk;    = 5 

 mjd; gb kzy; jhr;rpfspd; vz;zpf;if  = 5 × 4 = 20 
 

          
 

      fy; jhr;rpfspd; tpfpjk;    = 2 

 mjd; gb fy;; jhr;rpfspd; vz;zpf;if  = 2 × 4 = 8 
 

             
 
 

 ckJ fzpj ghlg;Gj;jfj;jpy; 21.3, 21.4 gapw;rpfis nra;aTk; 

3k; jtiz , 02 Mk; thuk; 

juk; - 7 

rgufKt khfhz fy;tpj; jpizf;fsk; - thuhe;j ghlrhiy 

juk; :- fzpjk; 


